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PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

GeneueuareupmieT @ramig e geuGaunm dammeaihEn gngsmp 500 Gemhaeicn
ferwefl&sa)ib.

1. Explain the origin and functions of World Trade Organisation.
2. 08 ai$ss Sl Gamdmd wHmb uellsdr ENss Nassab.
2.  Explain as to what inventions are patentable and what are non patentable?

qevuens sahlglyser By stuyfiew Qup Queid  wHmD TS
sem@yiysdr Bg sruyfew Qup Querg aaug Ghss awss.

3. Define Trade Mark. Explain in detail the limitations to the rights obtained on
the registration of Trade Marks.

‘aafls psfan” adtums awerun. aels wiHer udey ppewrst Qupuiu@id
2 flenwsafler Bgeter s Guur@smer elfleuns efloréEs.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Qenaupeuaneupmier @raimgh@ qeiGeunm elemmelpaib IDEETY 300 Qamhaefcn
e wellssayb.

4.  Moral rights of author.
< SMwhenr srils o Mepwaser

5.  What are the remedies available for Infringement of copy rights.
ugliyflew Bpeée adrmen Sranfser ame cravas?

6. What is Geographical Indications? What are the procedure for Registration of
Geographical Indication?

yellsmi  gMSOseT eremmred erean? yeller ghulGeafiar udey Qauyd
yopleen daréss. !



PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following:
Qleteu (meuemeuhm) et BbEDS N GOLILsET 61pg.
(a) Infringement of patents
sruyfleno Bwevger
(b) Term of patent
sruyflenw sre
(¢) Deceptive similarity
PSS BTN ;
(d) Anton pillar order
DAL SdeviT oy anemT
(e) | Bayer — Vs— Natco
Gumﬁ-VS—EnLGsn
() Passing off
Curalls serenio
(8 Rights of Broadcasting Ox;ganisations and of performers.
 @dlugliy @ewbliyseT wHnib smaEisalear o Nambsdr

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of Law.and decided

cases. Give cogent reasons.

ﬁm@@mmmﬁgm @remy @ FLL cuSWRISET wHmID Siorelssiiur L QULDEHHMETSH

8.

10.

safl 5@Hs sryamhs@E;Lem el wellésseab.

Varadhan is a scientist. He has invented a device which is useful to the atomic
power station. He wants to obtain the grant of patent. Advise Varadhan.

urger @ olghemal. et Emsss ewwsHo LwaTtuOss 558 @
Qupdlisens sam@lyggiemammi. DsHE et sriyflenn Qup ell(mwySpmir.
SUBES DIy UGS

Reena has a registered Trade mark “VETA” She gives her consent to Teena to
use “VETA”. Does it amount to assignment? ‘

fianm eremueur “eSLn” erguib uday Qupp ewells sHamyew mausS (&S o
St “eilir” agb  walls wsdoroul LwaLEsHsE Qsmaer’ e
ereTuaBEG Qmsay Agflelisdprr. Eg “wrhprésn” oEwom? ‘

Ranjani is an Advocate. She took a Xerox copy of a Judgement from a reputed

Journal without getting consent from the author of the Journal. Explain
whether Ranjani has committed any infringement? :

TepFall aremueur eusEMEsT. el @ WAL Beps usdfsmas QsmEulea
Qobs o6 Fdvap StiGear ogar udHiurdfiufer SawHufend Bao
&S, gereal gCsayb 2 Menw B yiibgierermym eren eflend(gs.
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